04371 R ER | MG REOIEF

7= miiEA

M

FHEMBERERABRN.

EFEMF R LR EN AC-46200,

EHBEMFERER PA 66 GF 35-X , IRIBT 41858,
HRe, BB EMRENTEHN 1.4305,

g
FHRAHERERLFARNBEELE,
EFEBHZE,

ELRBEREE,

R, BENBREISZE,

B
ELZENINE THNMRATABRAFERER  ERAIHMNLEFERXY
#E.

BE IR AR AT AE BN IR T AT R RESE, BRER
EHRBEYUR. RY SHIATROEHKETE.

HERR :

1) BIR IR R
2) #He BTN IRFRETHRR

© norelem www.norelem.com



04371 R ER | MG REOIEF

T
I
2
04371-206 M6 20 M6x0,5 56|60 53 (109 |9 8| 704 215 |20|30| 17 |12 4 120
04371-208 M8 20 M6x0,5 56|60 53|10 9|9 8| 704 215 (20|30 17 | 1,2 4 120
04371-210 M10 25 M8x0,75 72179 67|12 12|13 10 96 333 |25/40| 19 |15 8 350
04371-212 M12 32 M8x0,75 88|96 82|18 | 18|18 12 96 333 |30|50| 27 |16 8 350

© norelem www.norelem.com




